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4.	It is not always easy to calculate the area of shapes. Describe how you would find the area of each shape pictured.
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3.	The Great Pyramid has a base measurement of 230 m and a vertical height of 146 m. 


	What is the surface area of stone that can be seen?








2.	A rectangular wall 6.8 m long and 3.6 m high contains a design showing a parallelogram and 2 congruent triangles. The parallelogram is 4.8 m long and is being painted yellow at a cost of R4.50/m2. The triangles are being painted an iridescent blue at double the cost of the yellow paint.


	What is the cost to paint the wall in the two colours?








1.	A yachtsman is buying 2 new sails. The material for the sails is very light and strong and costs R379/m2. The yacht requires 2 sails with one half the size of the other. Both sails have the same mast height of 6 m and the larger sail has a base of 4.2 m.


	What is the cost for the sail material assuming there is no wastage?
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